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Bl L 22 AIT| 0 -
1rst Semgster B.E./B. Tech. Degree Examin. ’t;Qn;f'Dec 2023/J an. 2024
Mathematics — 1 for CS Stream

£ 1’.?9‘

ime: 3 hrs. Max. Marks: 100

e

ote: ; ;l;;swer any FIVE full questions, clt()avtlgg'ONE Jull questtonfr on;;each module.
U Formula Hand Book is permu;le(Q e B gy

3. M : Marks , L: Bloom’s level , C,{ Cozm’e outcomes. v

L] C

Q1 |a 12 | COl
. 12 | COl
b I'L2 | Ccol

At i 12 [ Co1

orthogona’ﬂ& : s
b. Fmd the; ggdal equauon of f=a o5 | CO1
CO5
Q3 cot
co1
col1 |
| 12]co1|
Q4 | i
CO1
¢. | Using mode “mmathématwal to 31 cos |
l,‘ g:,;; B
Lt (l-{—-—) % _
X =0 ‘ £ , ‘_" P :
| 42, Module—3 TSR A
' dy Y _ . 206 R 6 [L2]CO2|
‘A, —— S .,

Q5 |a Solve i X y i » ol
b. | Find the oﬂhogona,l«trajectones of the famllyr-— a(l 4+ sin 0). Vi3 | coz2|
¢. | Find the soluthn Jof the equation X" (y ~Px) = sz by reduamg into | 7 | L2 | CO2

‘ Clalraut s form usmg the substltutlon Xe=x, G 5% : o et B 3
; , - OR

; 'llo__f'2' " ;




: Q6 '} _31.'- SOIVG ~(8xy ~9y2)dx+2(x t—fj}é)?i’ a c1rcuxt >(’)f mduct" I

‘| R. Find the current at any tune

t=0. + 6y =0. i
: c Solve x(y')’ _(2x+3y)y" = Module. 4\

1 Q7 Ja i

Q.8 a. |
Eiesles xs= l(modll) o
Solve 7x+3y IO(modi'

& Usmg Raylelgh’s power- method; find. thc:S
vcorrespondmg, genyector of the matrix

gest elgen value ‘and thera E

s

-.

1 i the system of equaf
| xe 2y+z 3 + 31

Q0T

Sexdal methods»-j.?-‘l:*i
2x 3y+202—25 okl i KR
W t,e_,::__'rjl_ “_',programme/code to test the "'5"1“,' L3 : C(TSi

T L3 CO4S

=2 f“3x+3y+4z 1



USN

Tlme 3 hrs.

' Second Semester B.E./B.Tech. Degree Examina

Mathematlcs ~ 11 for CSE Stream |

Note: 1 Answer any FIVE full questions, choosil
2. VTU Formula Hand Book is permitted, C
3. M : Marks , L: Bloom’s level, C: Cour e‘autcomes. )

BMATSZDI

Dec 2023/J an.2024

Max Marks 100
ONE Sull questtou from each module.

MR

Modme—'l ’

Evaluate ﬁ T(x YK z) dyd%d

-1 0 x~z

L2

co1l

co1

Cco1

3[.co1l

o 'CQI' L

['coz

- ’CQZ':

coz2|

| Fmd the ang]e between the surfaees x e y2 + z2 9 dnd ZZ + y2 x= 3 at :

&

: ‘EXpre'ss:the’vector‘ ‘K;"zi‘i-'-Zx'j"'# ylnc.“ih‘-'cylindrical COOrdinaies.-.- SRS S oy L) L2 | C

C.

Usmg nmthern" eal tools, wrlte the code to hnd the curl of 6

Fz=x y71+y ‘zxj'+z xyk

o




B l,“ ALdLY 1

G TSR Module 3

’ + z.= P
[ Q.5 | a. | Prove that the .Subset W = {(X yl,{Z) ax. + by ez Dl
i i vector space R isa subspace of

C03

b | Dotermine _the fo]lowmg vectors are lmcarly, mdependent or not C03 S

xl (2 2 l),xz 1, 3, 7)«mdx;

T % (12 [co3
c. Show that the functlonT R —?R o] o>

linear transformation.

= ~ ‘ ' e vt ', o __' R T T o3|
Q.6 | a. | Determine whether the vcc_torsy " ) KD 7). and. 7 L2 CcO3 |-

b. | Verify the Rank-Nullity theorem for thc linear transform

7 T2 (CO3|
defined by T(x, ¥, 2) Sk 2 : i

v2y z,y+z,x+y 22)

%

c. | Consider the vectors

(1 7, 4),v—(2 3, 5), (4' % -3) in R3 Fmd 16 |12 |co3
) <wv> i) <u : i o

u+v) W>

Q.7 |a. | Find ana
the Regul
' ween l 4 and l 5

 using 7 T2 co4 )

C.

6 |13 | cos

Q8 ia-’.'.

: for e followmg valugs T,
Calculatc the area of cucle of dlameu. 82 b usm N Ed T 4
th etpolation formi; - y: g ewton S forward

90 | 95 o]
0217088 | 7854

c. | Use Simpson’s 1/3™ rule to,findl [e™"dx by taking seven ardivaiee ~ | | T
; X i taking s : SRR Rl el
il i .» ‘I YR SYEn ordimates, -l R bioiow




Module - 5

Q9

a.

Find by Taylor’s senes method the value of y at x = 0

a1z

b.

y(0) =1 at x= 0.2 takingh = 0.2.

C04_ ":

c'

Given that g—y— =x*(1+y) and y(])

y(1.3)=1.979. Compute y at x =

CO4

coa|

Q.10

a.

_,ltl.d_ﬁ JY(.O)' ?1"1§ .

x=0.1 corrected to |

0 0'*02 y(O 4) 00795

coa]




Tlme 3 hrs

9 O

Fxrst Semester B. E /B Tech Degree Exammaﬁ()}l

Introduction to Electrlcai Epgmeermg

Note: 1. Answer any FI VE full questwns, ch(fosz
. 2. VTU Formula Hand Book is permitted
3. M :Marks, L Bloont ’s level C: G : rﬁe outcomesh

: Meffﬁlw- : = . I‘V71 :11,J1 Cco1
Q.1 | a. | Explain nuclear power generatron wit}r the help of neat block‘d agram. e
" : 5 7 L3 | CO1
b. In the circuit shown fi nd thep r dehvered by the source Sy N
6 |L1|CO2
7 [L1]CO1
ine [7 [L1 | COI
6 |L3 | CO2
| power m a pure resxstor' 7 '.‘.L-z C02
i connected : ‘ ,w the voltage current and power W
Waveforr{gs“ it NGRS ik e .
b | A current of average valye 18. OI9A is flowing in a Cll‘Cl]lt to wh 13 [co
|| voltage of peak value 143'“’4%\/ is: apphed Determme' : 1ch 2 7' o COZ
i)+ Impedance in polarform. - : .
"_ii) - rms values of voltage and current
iii) - Power consume?i by the circuit.
: ,Assume vo]tag gs eurrentby 30°,

" 1of3




BESCKB104/BESCK104B»

i,"-,

g Te Ll ot
dal waveform of AC,, rameter i
| Define fo]]owmg terms related to sinusoi Tirie : »
i) Instantaneous value  ii) Amplitude iid) Frequenc w) e ¢
period v) Form factor  vi) Peak factor. C
OR = s :
Py 2y COG
Q4 Derive the equation of the power consumed by{R4L series circuit. Also L3 | dn
draw the waveforms of voltage current and_ poW(z | -
m 7o
b. | A circuit consist of a resistance of 20Q,-an  0ductance of 0. 05H conpec{ L3 COZ@
in series. A supply voltage of 230V, 50Hz.18 applied across the cxrcmf Find
the current, P.F. and power consmBgd by the circuit. Draw the “vector fer
diagram. ' ‘*i 3 -
¢. | What are the advantages ot;a 3 q;-sSlstem over a single phasé; gystemV L1 COIC
[%Y Module—3 & -
Q.5 | a. | With a neat diagram,ggx lain the construction of D& .generator. L1 | CO=
ﬁ‘f * B -
b. | A 4 pole lap connebted DC generator has 60(2 armature conductors and run L3 | cor
at 1200rpm. ﬂ" ‘generator has' total flu f 024wb, calculate the emf o
induced. Fmdztﬁe speed. at which it shoul be driven to produce the same
emf Wl}gﬂ;: aVe connected: <
A L2 | COE
Q6 [a.|A 4 pole, 250V series gj tor has wave conn "te‘w arfnature thh? 25417113 ’CO&
conductors. The flux per; ole is 22mwb, when theamy {Fhe :
armature and series fie -coﬂ resistances are\q 3Q and O 202 reSpe : vely '
Calculate the speed and torque of the motg fand also power devé’loped in
watts. : , " e X
b. | With usual n_otanons derive an em(éQua‘uon of D C generator ‘ L2 | Co
c. Explaiz{‘%l;’fe following chafac:tei;l:gﬁies o_f a DC shunf L2 | CoS
1) ﬁsé['orque Vs armature c’u ’ e )
u) o C
Q.7 ‘Derive the emf edudtjon of a trans :
current transformatioh ratios. L2 | cog
b. | With neagﬁgtﬁ;a explain t.he o nstructlon of two t ‘ &
es :
inductionmotor, Q pes of Totor Of a 3. ¢ L2 | Cco1
o, o LS
C. | A 125K VA transformers bas a primar volta e of 20 —
and 40 turns on primag ycand secondagy respgctxvely ng:{cztl:t(emz e 182 13,1 .co%
secondary emf ij) Fullload primary and secondary cuﬂents 'l).f?o load : :
value of flux in t,h&core il - i) Max

- 20f3
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BESCKB104/BESCK104B
fe OR i C02
Q.8 | a. | Explain how a rotating magnetic flux is created in | 072

: induction motor. P
b. | A 3-¢, 6 pole, 50Hz induction motor has a slip of* 3%,af full load. Find the | L3 | CO2
synchronous speed, rotor speed and the freqt}erh; “of rotor current at full
load.
H;“ 5o :
¢. | Explain the various losses in a transforr%exnand how to minimize them; L1 | CO2
ittt lﬁﬁ__f
Module -5 G
Q.9 | a. | Explain two way and three. way\f"" froi of lamps with circutl dlagram and L1 | CO2
truth table. :
b. | Define “unit” used for consumpﬁon of electrlcal energy and explam the two L1 | CO2
part tariff with its advanf
N L2 | CO4
Q10 a. 12 | €05
b. Llst "ut ﬂ’xe power ratlng of bousehold apphances mcludmg an' : L2 | CO5
vcondlt onérs PCs, Iaptops pnntefé ele. My,
L2 | CO4




' BPOPS103/203

USN

First/Second Semester B.E./B.Tech. Degree Examinahon, Dec.2023/Jan. 2024
Principles of Programmihg Using C

r’ih‘

Time: 3 hrs. Pt e Max. Marks: 100
Note: 1. Answer any FIVE full questions, clmmmg ONL‘ Sull guestion from each module.

2. M : Marks , L: Bloom's level , C: Course; (mtwmcs £ ,.

r Module 51" ° e (ML Cgl
Q.1 | a. | Define a Computer. Explain the clmractc(mtxcs of a digital comput(ir v 10 | L1 e

b. | Explain the basic structure of a C pro yram with a neat dlagram - 10 | L1

A8 ka & " :
Q.2_| a. | With a neat diagram explain the steps in the execution of ¢ program. 10 (L1 | CO1
b. | Explain the input and output statements in C with exarqples for each. 10| L2 | CO1
& . Module — 2 4’
3 | a. | Explain the various opcratqrq in C. e 10 | L2 | CO1
b. | Explain the dlffercnt«fonns of if statement with ﬂowbharts 10 | L1 | CO2
o T OR o
Q.4 | a. | Explain the sthch‘e,,.fs,tatement with an examp[ 10 Iljg Cco2
) <,_\r \.v.z, b4 ]

b. | Explain break and continue statements with examples for each. 04 | L2 | CO2

.'c.' \‘zu A;‘\.\} p(h N L3
¢. | Write ‘@@ program to find thg Iargest of 3 numberi, Uising nested if | 06 | L3 | CO2

statement. .
M Module 3 :
Q.5 | a. | Discuss in detail the parts ¢: "j“nser-deﬁned functmpv 10| L2 | CO3
b. | Discuss the storage classes“m C. ; 10| L2 | CO3
& i OR 5 S5, g . ;

Q.6 | a. | Define recursion. ngte a C program tQ, ﬁﬁd the factorial, 6f ‘n using 105 L1 |CO3

recursion. P P, # 4nd L3
b. | What is an ar.rax;? Explain the dec aga‘;x and mxtlahzatlomof 1-D arrays. 05| L1 | CO3

£ ' S .f\@“?' L2
c. | Writea C pmgrm to perfoml,Mamx Multiplicationiy,” 10| L3 | CO3

<5, Module —4
Q.7 |a. | Write - ﬁmctxonq to 1mplemént string ope};aﬁons such as compare | 10 | L3 [ CO4
coficatenate and strmglengfh Convince theparameter passing techniques.

b. |“Dgvelop a program uusmg pointers to com)}ute, sum, inean and standard | 10 | L3 | CO4
déviation of all the,élcments stored in an array.

st n"’ ()1!‘;l ‘ : :
Q.8 |[a. | Definca pomtcrﬁ Discuss the declaration of pointer variables. 05| L2 | COa
b. | Discuss the various string handling‘functions in C. - : 10| L2 | Co4
c. | Write a C program to swap two numbers using call by reference techmque 05| L3 | CO4
’ % Module - 5 . ' =l
Q.9 |a.|Define a structure. E)(plgm the types of structure declarations with | 10 | L1 | CO4
examples for each. & ;

b. | Tmplement structurés!to read, write and compute average marks and the 10 | L3 | CO4
students scoring; below and above average in a class of ‘N’ students. e

4 OR - ,

a. | Differentiate: between structures and union. ‘ 6Lzl cos|
b. | Define a Btmcture by name DOB consisting of three members dd, mm‘ 06| L3 | COs 2
.| and yy. ‘Dcvelop aC program that would read values to the mdxv1dual i A
member and display the date in the form dd/mm/yyyy,

Q.10

c. -Exp: in the vanous file operations with syntax for each. R 03 L2 e

% %k Y v ok :




UsN

" Time: 3 hrs. s: 100

Note: 1. Answer any FIVE full qucsttons, choosmg
2. M : Marks, L: Bloon’s level C Cou e outcomes.

[Q1 Ta. T1o[L2 | cor

— |10[12]cor

Q2 |a. ~ [10] Lz cot

10|12 [ co1

Q3 |a. .;Explam solar radlatxo' ~and ts estlmanon on ipri >1Co32

: surfaces

: _”**“t.he basic- components of Wlnd Energy BT
ing the components ofa wmd turbme

L2 | CO3

| b. | Stating advantages andi.disadvantages, elaborate n detaJl the workmg ; 10'- L2 C03
: :prmclple ofa horlzontal.ams wmd turbines. o bk

"

OR

Q5 a Elaborate on*‘_i_ih:_f)tosynthes.isprocess. T AR L ; ; 3 6 L2 C03 Bt

1of2




BE LU AV R AZ 2 = 700

b. | Explain b

iomass conversion technologies.

.C.

Explain with a

ith a neat sketch, downdraft gariﬁer.

12

Module — 4

L2

a.’ 'Explam w1th sketches, wbrkmg of smgleuan

plants

| Summarize the advantages‘vatjd I

12

;10

a.

:Thermal Energy Convers{

Explam w1th sketches

10

12

12

10

L2

10

iz

10

%3

10

2082t




' BETCK105F /BETCKFIOS

% USN

Fll‘St Semester B.E./B.Tech. Degree Exammatm Dec.2023/J an.2024
Waste Management
T ime: 3 hrs. Max. Marks: 100

Note: 1. Answer any FI VE full questions, clmosméONE fuII questzon from each module. 5
2. M : Marks, L: Bloom’’s Ievel C: Course outcomes

C
Qi Co1
Cco1
.Q-Z Tcot
:COI
a3 5, co1
. YYICOI
o ‘co1
Co1
QS a;' i Outhne fhe various factors,that influence the waste collection systém IQ L2 Coi
S*e%ﬂﬁsz‘ifzz;gg; — e

1 | '

{of2




' BETCK105F / BETCKF105

Q.6 | a. | Explain the various disposal options of solid wastes. 10 —LZ C
b.. Descrlbe the different processes for the fea51b1hty ofdisposal of solid waste 10 [ L2 | CO2

| through samtary hand- ﬁllmg : Br e Ko ,
i Module R

Q.7 Explam the process of mechanical voltime Reduction. } 10112 ] CO2
n.solid waste | 10 [ L1 | CO2
QA 10 | L2 | CO3
‘10 | L2 | CO3
979 Al 10 | L2 | CO4
10| L2 | CO4
10| L2 | CO4

an. aa HA @ &S SN A AN A n "~ & £ L

20f2 .

s
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: 35.7 : ThethreeIsofdemgnt

£ > : 6 _In des1gn, whe

Questmn Paper Version : A

"USN.

Flrst/Second Semester B.E./B.Tech./B.Des. Degree Exammatlon Dec.2023/Jan.2024

lnnovatlon and Dbs:gn Thmkmg

- [Max. Marks: 50

a) Understand > Draw > Ideatc > Crate > Test.. =
b) Empathize > Define > Ideate > Prototype : e

) Empathize > Design pS Implement > Produce > Test -
- d) Understand > Deﬁne > Ideate > Produce >Try

2. The comprehenswc principle of de51gn thmkmg does not mclude
a) Re]atxonsblp b) Collaboration

el c) Comniumcatlon _ A - d) Suppllers
4.
i abilities! Accordmg to thé: de51gn thmkmg process . Mr. ABC will face problems
" becauseheismissing. :
©g) Empathy . bhC “ny;ty ) Pracncahty d) Imagmatxon

ng do not mclude ' SR
: a) Interest T ,b} hnplementanon -9 IﬂSplfathﬂ : ,j d) Ideatlon

from?
: b) The 1deate stage 5 T
d) The: testmg stage .

Versxon As 1 of 6

BIDT%KI‘58/BIDTK258/223D16 '



= '7.* Collectmg________
" design. e
~'a) Pictures b) Money

S S ntal model of : pr
de A) I%Otfzt);pigs R eXpeﬂme R Vahdate ideas
a) Test ide :

¢) Both

9. Identify the correct statement-' i
a) To derive the powcr of desxgnd\,

- b)Leap of falth is the page in e wmz;mual of desrgn thmkmg contammg the core

hilosophy about desngnthlﬁking T s :
c) Ilj)esxgnl:hl}xlakmg presupposes' that some people ar nh_erently creatwe and become
successful m_creat1 duct

10.

11.

a) Understandmg\thetp' blem
c) Identlfym

Value cham analysns pro
a) Better understand ustomer
’b) Uncover the mform ion

- ¢) Better market a3 :

d) All of these

18, Y
s opportumtles?
‘a) Prototype

c) Ideate

b) Rapxd concept devel

opment :
-4 Leammg launches ’




BIDTK158/BIDTK258/22BD16

" 17. The goal of the prototypc phasc is
a) To understand what component of your idea dxdn, t work
b) To understand what component of your idea work'
c) Both of them . Y Y
d) None of them

18. is a tool to use the demgn\
opportunities.
a) Visualization
c) Rapid concept development

19. Which tool is used for feas1b1h'
a) Value chain analysis
c) Prototype

;check of assumptions of the new business 1deas‘7 .
4 b) Rapxd'concept development ,

ared :

a) Prob lem statement formulatlon
- ¢) Value cham analysxs i

‘a) Leammg launches
¢) Customer co-creation ™

22 ‘What is an example of ame
a) Surveys b
¢) Design sprints

8) To create a digital environment where te:
™. feedback and work gether on pro;ects m real t1me

25." What is the purpose of user testmg" ki S e S :
a) To gather feedback and: 1dent1fy areas for: 1mprovement ina ptoduct or semce
b) To create a user-centered design ’ e R :
- ¢) To create empathy map-
d) To conduct us earch

26, ‘Which one of themfollow mg is not a part of vanous busmess process model steps"
a) Procgss maps ‘ i\ Ui : b) PI'OCCSS dCtCChOﬂ ST
, c) Proce: 4r nitation - d) Process termmatlon e

% Versmn A 3of 6




BIDTK158 IDTK258/223D16

27. An employer Mis: ABC divides her business processes into’ asxc compﬂnents based ol
their functions and performance for the busmess is call A R SN e
- a) Building Product Management ’

- b) Business Product Management
' ¢) Business Process Modelling
'd) Basic Product Management

28. What is the main focus of deblgn thinking in:IT? 2

a) Efficiency
c) User-centeredncss

29.  Which stage in Design Thinkit
developers and stakeholders? ; ¢
a) Empathize. .~
c). Idcatc |

30. Whlch one of the following are vadvantag s f’Busmess Pr e
a) Align: operan ns. Wlth?busmess strategy :
b) Improve’ io1 7

: _' a) Time and mOtlth,, tudy
; ‘c) aandb !

~ 35. Which method’can be used to de
- structural and behavioural mode
@) Scenario based 1 prototyp i
G c) Slmple prototype




37.

38.

39.

40.

42.

44.

45.
R a)Leammg goals
' -'c) Develop ng ﬂow of activity

)2 Prototyping
*¢) Mind mapping

BI DTK158/131DTK2'58/223151 i

A time boxed iteration of continuous development cyclc fo a planned amount of work

that has to be completed by the team and made ready for revrew is called -

a) Prototyping b) Sprint
¢) Experience Design ‘ - d) Busmess Model Design

Which one is the process of setting goals,. procedurcq and objectives in order to make 2
company or organization more compctmve? v

a) Visualization %

b) Strategic management
¢) Group discussion

d) Prototype

I ot’part of any type of mnovatron” '
~b) Radical .-
d) Archltectural

Which one of the followmg i
a) Disruptive
¢) Conceptual

Which innovation :type is related to new co 'ept product or, serv1ce whrch will create
new value to the. cxrstmg markct and also créate:a complctcly new markct?
: SR b) Sustaining. ey

c) Drsruptwe

a)2hrs
b) 2 days

c) one week
d) Depends on the conteg(

Which one of the followmg are part of th
a) Managed innoval fion process :
b) Strategic Ahgnment Cle
¢) Industries foresrght and 1mp1emen tion

n’. The
statement refers to ;
a). Story telling

d) Conceptualrzm

How does expenence design relate; -humamzatlon in product development‘7

a) Experience design focuses on, creatmg a positive user experience whrle humamzatron

focuses on making products more user friendly..

b) Experience design and humamzatron are unrelated. . "
c) Experience design and‘hhmamzatlon focuses on creatmg a posmve user expcncnce

d) None of these

of design tﬁinking workshop?
~ b) Pre-meeting ;
d) Idea testing

Which one is not. part“ of plannmg stage

 VersionA-50f6




46.

47.

48.

49.

50

: a). };)esxgn thinking -

{DTK258/22BD16
n a new techno[ogy 'complctcly disﬁiptg' e'xi,Sﬁng ;

innovation happens whe
= . business model

business or economy and creates a new 5ustammg

a) Incremental d; R ”dwal

c) Disruptive } ‘ |
resenting the story of the product?

Which of the following is not con51derat10 whﬂe rep
a) The central idea of the product y

b) Engaging the participants
c) Other products in market
d) Incorporatc adequate detail

A company collects, analyses' and. rework by considering gega_twe fegfiback tvor—l,egrnj and
improve to create a solu’uon that'is e , e

%

a) Desirable to customer:

b) Feasible to xmplemen )
‘success

c) Viable for long
d) All of these ; 2
What step of th :des1gn process was not consxdered for thlS tea pot? B s

a) Research and Des T
b) Prototype and Testing
- ¢) Design and Manuﬁzcturmg
d) All of these =

M. XYZ _startmg a clotbmg iompany Instead oﬁ‘nakmg clothmg that ﬁts models he :
_wants to’ “start thinking abq hat non. models/common people/end users. need and plan

hwdesxgn around them AY ‘rdmgly, hei is. engagmg in o e

Model design
c) End user genera Of) < e ke
d) Model thmkmg S

Yérs,iori_A‘,-lG of 6 L




E '-Us'N-’

2 M: Markv L Bloom 'S Ievel C Coarse ‘outcomes.

. TR
Q.1 | a. | Differentiate between point to 5 |L1|CO1
type. ' : »
b. | Discuss the advantages and: .disadvantages of the followmg network 5 |L2|CO1
topologies: (i) Star (u) ng (iii) Bus ' (iv) Mesh, with neat dlagram
¢. | Explain OSI model wi 12 | CO1
Q2 Tz Tcot]|
Li CO1
12| col
BCER 8 [12]cC02
L1 | coz
12| CO2
. 12 | CO2
L2 | co2
| L2 | CO2
P Module 3 : : ,
Q.5 [ a. | What are the‘dlfferent data formats found in IoT network? Explam bnefly 6 |L2]Cco3]|
'b. | What are the types of Io w frocessmg topologles? Explain them-bneﬂy_. , 10 L2 CO3
¢ Expla_in the importance of processing in IoT. 4 |12 [ Co3

OR
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3 Explain 10T device design and selection considerations.

: -'What 19 processmg off-loadmg" Infer the different’ data 0

Module 4.

o Q7

| 'Deﬁne cloud computmg Descrxbe the advantages 0 ‘,cloud comp

uting. .

ji padi‘ng"m_fc'thbd.' :
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USN ‘ V'QUest’lﬁ"o P'apeerersi'on_: Al

’ Fu'st/Second Semester B E. /B Tech./B.Ds. Degree!] Exammatmn, Dec.2023/J an.202
; S Communicatwe Engllsh "

Time: 1 hr] , | 7 - [Max. Marks: 50

£

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questxons, each question carries one mark.
2. Use only Black ball pomt pen for writing / darkemng ‘the circles.

3. For each questlon,‘ af I selectmg your answer, ‘darken the appropnate circle

dj ‘None of these

c) Commu lcatlve

=2 Commumcatlon 1s a
a) one way -

4. ‘Poor Prxntmg itisa type of Barner :
P a) Ver@al Bamer 5

; ’Commumcatlo’ i
a) Mass Communlcatlon '
c) Extrapersonal :

b) 'Ihterpersohel Sy 2
d) None ofthese "3‘» :

- 7. Flashing eyes, ‘avoidmgi contact may also cause to effecnve Commumcatxon g
. a) Vernal barrier -+~ - b) Listening barrier - G By
HEe) Psychologlcal barrler d) Non- Verbal barrler S
g In general oral: Commumcatlon is the mterchange of __between the sender and the gy
~ ‘receiver. : s
a) . cues, nd clues b) speakmg L a0) gestures : gd) ver_bal messa‘ges e

-VerA-1o0f4.




BENGKI 06/BEN GK206

c 9 ‘Follows a set pattem such as sequence of elements 1

~ Communication. e
- a)l Profewonal b) General . c) Person

is called
~a) Personal b) Professional'

11. One native reglonal accent that has gamed 'fEnghsh.

a) Received pronunciation
c) Transcrlptlon.

12.
: called
a) Vowel

13. e G
: d) None ofthese :

pronoun)

1a) He Iand you

c) I he»and you

(Appropnate Ad_]ectwe 1s)

23, The ﬂower smells
' sweetly ' ' c) sweeter

g a) sweet

tOda}’, (place an adverb) :
: b) very o c) more

/22131)167"?.'

report thls 1s __,_._ :

,.’.f"d)"ip ;~’;'for"; ma - tion

SRS S

d) None of these L

,.d) You Iandhe



- =28,

26.
B
»2’8,
29

30.

31

32,

‘“We coulcl barely do vanythirig. (suitable question Tag).«

ca) 1 - b man

BENGK1 06/BENGK206/22BD17

Hardly had he arrived __ the portico crumbled. (Choose'” rrect conjunctlon)h
a)  than - b) then c) when 'd) None of these

a) Couldn’t we? b) Couldwe?  c¢) Can wev d) None of these

A Person who belreves in God, we call him ™
a) Theist b) Atheist 2 G ‘Eccentric ) - Spinster

: | L
‘I saw a man’ in thrs sentence wh1ch is prouounced with a weak verb; ¥ 1thout any specia

ernphasrs :

'q«: "

c) saw w Tod) 2

Flour is made e preposition) .
: ' : d) in

L) wof ¢) from
_;__ Humanity is, m danger (Choose the correct optron) .
a) A b)\ c) The d) Not needed any article
Frll in the banks wrth appropriate preﬁxes
“The army peoplc *"_ attacked the enernyf.z ,
wend) s M- sy b) Inter "> ¢) Counter d) Un
My research Supervrsor is ,;é;itical about everything:.. .
a) hyper b) un 5% c) mono d) intra

B ~ Choose the pairs of word/ phrases :
- 33,

4

135,

% ‘36 i

-3,

38.

ik a) Noman ? b) No ¢) Nomen - d) Noneof these -

Archive : Document e iy e 3
a) Warehouse : merchandise b) Lrbrary Shelves
¢) . Theater : Plays. d) Cinema : Pro;ector

Coal Mineral ... R, _ Sy,
a) Oxygen: Water b) river : dam " ¢) gold metal T

Choose the correct subject verb concord in the sentences :

*‘Drabetes i a silent klller

a), 1Is .. Dy 31’6 0) were ~d) None of these"

; . é;'iJu’ry‘,gdve" verdrct n an unbrased manner. : : |
. their b) them . ©) its 5 d) None of these

Complete the: sentence with appropnate tense from :

Sir, 1. "'?"passed my B.Tech m2003 B e

a) have °~ b has ‘ C) was d) Not required
We - finished our. assrgnment Just now. st "

a) ‘have b) ‘has c) had . :d). Noneofthese

Choose the correct?optron 3

was vrslble at this late hour

Ver A-3of 4



40.

41.
4.

43,

" 49. The bullet train schedule (03

The tycoon had expired before fhigna =
" a) Physician arrives

48. & Accordmg to Pritn 'mester the two:

BENGKI06/BENGK206/22BD17-

c¢) Physician arrived

When , I will tell him everythm;,
a) he is corr commg b) he comes

1 mmnnlzed in thexc
s y b) glvmg examples from the mother tongue 7

called
a) Elocution ¥

sid éred as a dream project of the
avmg its first ever bullet tram 7

'Words “To ¢ gro :
decide one’s strength to ‘achieve that. It’s the New: India which: has'to fly lngh” “Bullet
‘Train is a project thatwill provide pace« | velopment “Alo g.—fﬁhth new technology, it
will also bring résults faster”, he added According to hal Khare, the Managing
Director of the: Nhtlonal ngh spee ~Corporation, ect would be completed by
December 2005 Lo N

: - d) None of these
en both the States. |
). 2 hr, 35 ‘min - d) . None of these ‘

benefits’ that the bu]]et tram will bring are to

provide pace to .+
a) travel, traing;

b) tram travel results A
c) development trains

d) development Tesults

rin between and =
a) Mumbaj and Ahmeddbad b) Mumbai and T Delh1
 ¢) Mumbai and Gu_]arat d) None of these ‘

-50.- The project is expected to be _ by December 2023.-

is @) completedn

b) operattonallsed © ,sta,rk‘t_ed d) ﬁdﬁe of.tl:lese' ks

de %ok Kk

; ‘VerA54of4'
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. USN Qup’:gtion Paper Version : A

First/Second Semester B.E/B.Tech. Degree Exammatlon, Dec.2023/Jan.2024

To0R, é’z\a’s 8?\'3 a3

(COMMON TO ALL“BRANCHES)

Time: 1 hrs.] - 2" [Max. Marks: 50
madﬂﬁo .

. DY 20 [YNREOR ems amo =8 T/ zuocso eﬁoa‘

22, é»é'DO e_eo’s em@d wé#ojoe‘b ojooéme 6)?\56 xoaf @ore BT, BT
Becdodomy, @08 A,B, C egso D odoc"d’q,2 ééoencs’oé T, 0308301
mw@m@m eaap;@m 953250 8030AT S, 3.

3. £.00.80° BT BTN, IRETHANTE  BIFY,  PIEBRBS
worfodoe  ‘AWO o FEEBPRT maoacm@ o3 TSe
BTRRBABE), woss VBT BT, 0B, BRYERTIRT).

4, #ewo zuocf»o 003 0BT, BRG Tevss ’r’@#odo@ o 8RBYR. 20T
B 0E evs, dasm ;;‘»mm@m@m @m

5. @en evsdnesy amﬁ AR z,@o‘_v\ﬁ_‘oe 03,0 HyFod

68 Bomadnv swus ARbES eodton
Byt St S8BTV
- c) a"f?.’n?dcfn &) Podabe

L. 3630, Bdosd: Borte SR Seash
wdo.’md aawiﬁ 3" ‘mﬁﬁb aow*m
RN '

2. _;)svhas@mo worial 6&)01) 5o, oind;d)?-' o
2) 508, a)emo;d w ® " b) 3 aaas
¢) BOFE3B ﬁ:&aféz,iaj d) & eoaabaodoea B3eSo

3. oowoarsd awgrish &8, :ddababad@? ‘
a) Dot 07 b) TR DRSS c) a) DI b) . . d)ocinldcd ey

4. 80w ARNFEY Beddmod d3AM aoBBEw? _ e
) edrzioBch b) rhzeORw ¢) ABPAND  d)ouZe IO
o ' Ver-A 10f6 Eed




10.

bl

12.

13.

;_q),__zo;ddsg

BKSKK107/207

“dgjoey By doth BToE SREE Seandth odrach?

a) &2, Sosesbey ol , b) D cao % e
¢) DFoD) d) aj) 3.3

"BRoFus N3 Is" 83ab) d?ﬁmdéﬂd} ey
a) dedor X b) et doseaoao:bd)
c) A Soseied ef)oigsqmg‘,. S d)dgay Q)O?VSS

Ca0bedRBRY 1955 B, :s:sd 8RB ok, I ev;scs wd gw airch?
a) 3. OFF. aidmoim c‘.’b e b 3.0 Weod,
9 yedort Sdao. 2

| 6?:5{3 mafozbai) c'.’)ch draoﬁ'éef) ‘@dmd) OR), asaid) eci)d)&ojnﬁ a?wémd?

d) 60 3BOZ

T hosnvows
© o d)y serbesd

30 asvédvi?ob &,008 &, O
| b)' ﬁav ai)mo'aas

) o3 RTIBED

“CaRo” e“aoazsdfazzas aesarim 23 SIS cired? .
2 e}y, anday  b) BeddmeRBAY, o) Vs 3 d) soy, vda,

8 Etiedoh SIRHY 0osE wrgm?

a) ©HTed,8 dort'

b) roses,o ) URDOSWER ) BeBuRonvges

Ver-A 2 of6



17,

BKSKK107/207

14 roeb, dort @) Bonah & R1eds,03 W ©E03 .
 BERIBO Bewepd?
a) O, b) TR

casSon s, ardaly 33,

d) Be0b3

13 “ombodtes g, audossemd Bo” 8 a‘ezs’s:*‘afais%s; SeBdBED AT
a) V0BT TR  b) BT

16. SRSmARG oatd,s oireds

2) R BB d) BB ATV

| d)“dnmveg‘

"’édadsé:ej

' d) rbuaenomm

S e e b alie <7 o) ekoord dbe d) oim@d) o0

. Ver-A 30of6



S 24&5 -

25;

26.

27.

» 6'Jﬁai@ﬁvée‘) e 8.9 25 o33 a‘aaj e&v?
- a) BB b) VTR WA

c) 3&3555

B3.09.23e0%)0h &3 SoFFoe) oOb?
2) ©oNEIBIHBI  b) B[oBBB

"DHR)  5202I6”
esaigﬁm%mﬂd?

2) BTG ) RDeNeS

swém

b) evaidaia) c)zéﬁaaes

Ver—A 4 of 6
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Questlon Paper Version : A

First/Second Semester B.E./B.Tech. Degreegflf:;;ﬁmination, Dec.2023/Jan.2024

- Time: 1 hrs.]

prohﬂnted

Balake K,gpnéda
(COMMON TO ALL BRANCHES)

J ;[Maxb. Marks: 50

Fill in the blanks with

_adu _
a) yaara

. idu

naanu

-a) Kaalejige
~ “niivu
.- a)ellige

niinu-
-a) yaaru

") avand
i

‘jd) elh

d’j i, 1 |
Write.‘app;oﬁi'iate v’?o'td’s to;fill""the blank.z‘iiid make sentence me_anihgful; A

idu _mane. A R R e e
a)enu’ » b) avalLa - ¢)huDuga . . d) yaake

bandenu.

bjavana = qavara djenu
hoguttiddira? sl MR R et
~b)enu ‘C)avara . . .d)avana

Version A-1of4



10.

11.

12.

13.

14.

15.

16.

17.

18.

19

20.

":21‘.'

“hoSa

“a)raSteyalli .-

'BKBKK107/207

ivaru __akka. , d) vNanvna..
a) nanna b) naNNa G

adu yaara

S d) nanna
a) Mane b) mane _) b

Change the word as per the model:
(Ex : doDDa + avanu = doDDavu“_ﬂm

SaNNa
a) sannavanu

©) SaNNavaNu''~ d) SANNAVANu

Chikka o,
a) ChikkavaLu b).Chikkavanu

d) CiKKaVNu

KeTTa
a) kettavanuy = ¢

b)KeTTavanu = §)/KeTTavaNu = d) KettavaNu

ettara 3 Py,
a) ettaradavanu . b)ettaravanu -

--‘C_) Ettaradavanu d)'ET"ll“_a'radavanur

mane” "% | 5 v
a) maneyavanu B e
Transform the followm: 1

(SaNNa - SdNNadu)

DoDDa

a) DoDDadu i d)DODDADU ,

avara
a) avarad

d) AVARADU
namma :
a)nammadu

a) hoSadu d) hbs .aDu :
avalLa b S

a) avaLadu i : d) avanadu

raSte : SR : G e e o
b)Rasteyalli ¢) Rasreyaui;‘* Cdstevay.
' ‘-b) pustakaDalh B c) Pustakadalh

Version A 2 of4

- 9 PUSTARADay; e



23,

24.

25,

26.

27.

28,

34. S :
- a)Saviyiri

35.

mare
.~ @) mareyiri

angaD1

a) angaDlyizlll

byag

a) byaginalli

daari
a) daariyalli

Fill in the blanks with suitable

avalLu nimma

~a)akka

avara
a) aane

; mmma hesaru

Fill in the blanks usin |
- meaningful one. y

niinu

. indu _
~.a) naavue:

b) byagiNalli

b) daariYall

uurlgc hogoNavaa? (we)

b) Naavu

b) Angadiyalli  ¢) angadi,ifa}ljz

c) YAARu

; c) NAAvu

Versxon A 3 of 4

‘BKBKK107/207

d) angaDiyalli

d) byaGalli

d) famma =

- d)Mane

d)-Enu-it oo

- d) tandiri
. d) eseiri
o -( d) nudiyiﬁ

d) Sullu’

d) Marm

'd) yaru

©d) Naau




38 idu pii_étaka. (her) G
~a)avalLa ~ ‘b)avana q) avara
%30, ' .nanha snehita. (He) “

. a)Avalu - b) Avanu »
40. indu Kaale_uge barutt1yaa‘7 :
~@niinu. - ph b) Ninu -

3 41 eradu s

: : '_:a) hogutteve
48

) HOGUTTEVE
tinnuieve | & TINNUTTEVE |
49, KoDu: . '
: a) Kodutteve

~ 9KoDUteve  d)KODUTTEVE
: 50. 'maadu e 5 : ‘ |
 a)maadutteve

c) maaDutteve_: d)maaDuTTeve i

kK, * * *




Fll‘st/Second SemesterB .E./B.Tech. Degree Examl ation, Dec 2023/Jan 2024
Applled Physncs for CSE Stream |
“Time: 3 hrs.

2 Draw neat \kctchev where ever nccesmry
‘3. VTU Formula Hand Book is permitted.
4 M : Marks, L: Bloom'’s level , C: Course outcomes 2
.S, Constants: Speed of Light C = 3 x 10° nifs,; :Boltynam const. K= 1. 38x10 J/K :
Planck’s const h=6.625 % 10° JS At,'celemlwn due to gravity g =9.8 572
Permmxvzty of Free space € '

(1
' Li=C
Q1 [a. TL1| col
b. [Tz cor
el L3[Co1|
0z 'a;': 12| col
b. ; L2 | co1l
c. rac tmg experlment the LASER hght undergoes c.econd' 5 L3 éOS" :
| order dlffract for diffraction 'aﬂ”lei 148“ The gratmg constant,. ' '
i d 5.05% 10 ‘m and the distance] :

Q3 | Heisenberg’s’ uncextamty;prmmple "-'U%mg the prmcnple‘ 712 ":COZA :
Lty exxstmsndethen 5 Vons e, :
13 coz
5 [L3|coz|
b b [9]2Tcoz] -
b. Discuss de-Broghe hypothems ‘ : — 6 : L2 C02
Limedber Calculate the, nergy of the ﬁrst three states for an’ electron m one'j 513 co

.d1mcns1onal potentlal well of wxdth 1A° R e B 5 L3 -‘ C02 ‘

1 T T
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[coa|

, Module 3 : il 6 | L2 C02
gl y Bloch sphere. Erpne ‘ ,
G5 o Bl he reprosentaion o U0t U2 our T—f:ffa’f ,
A atation and its OP auon on 108 :
b. | Discuss CNOT gatc matrix represe P
Sl ‘ %[l =] 0) § | L3 | CO2 |
= | A linear operator X operatcs such that X]0) =D an . e
Find the matrix rcprcsentation of X 7 |
OR . ° : - —==
Toy and (1) | 8 | L3 | CO2
Q.6 [ a. | Statc the Pauli’s metrics and apply Pauh matnccs on the states | 0) an !‘)
states. gk ' it v
2
b. | Elucidate the differences between classwal and quantum computmg 6 | L2 CO
c. | Explain matrix representation.o. of 0 and [ states and apply 1dent1fy operator | 6 | L3 | CO2
[to |0) and [1) states. ‘i~ =
AN Module 4 i e SO O
Q.7 | a. | Enumerate the faxlur f Classical Free Electron [CFET] Theory and | 7 | L2 | CO3
’ ‘mention the ass nptlons of Quantum Free Electron Theory [QFET] - i
b. | Describe MCISS s effect DlStlﬂgﬂlSh betWeen Type I and Type 1I super 8 { L2 | CO3
5 |L3|CO3
Q5 7 [L2 | CO3
8 | L2 | CO3
5‘ L3 | CO3
~ 8 | L2 | CO4
6 | L2 | CO4
6 |L3|CO5|
: f‘{ls 0031m Calculete the aﬂgle of» | : :
o fgwen optical fiber. 3
Q0 [a |1 " OR, =
b iscuss the saherzlthfeatures of Normal dxstnbutxon usmg Bell curves .,7' 12
1e. Whlle animating,spéeding u B B
B p car animation, the total di —
| 6 frames is 25m; Calculate the base distance. i covered over‘ 5 13
. ' *****

CO4:* :
coi|




USN

Flrst Semester B.E./B.Tech. Degree Examma*tmn

T1me 3 hrs. : ,;Q: QJ
_Note: I Aiiswer any FIVE Sull questwns, choo&mg‘ONE full question frmr;.each module.
Y

Introductlon to Cyber ‘Sgcuraty

“4

2. M : Marks., L: Bloom’s level , C: Com's'e otitcomes

;T)ec.2023/J an.2024

Max. Marks: 100

1o0f2

g M| L C
a. | Define the following terms : 10 | L1 | CO1
i) Cyber space
ii) Cyber squatting
iit) Cyber punk P
iv) Cyber warfare FN
v) Cyber terrorism' PQ\?;XV
b. 10| L2 | CO1
g OR '*‘» '
1Q2 |a. Who are, beer ‘criminals? Discuss m detail the varlous types of cyber |10 | L2 | CO1
: crmnnalSm .&;@
: o a2y Y .
|b. Explam the various classifications of cyber crimes. {a;;;l:\\' ™ 10| L2 | CO1
’\:‘? B W ;f."‘é\‘%’;\,
Tx,” Module—2 WY TS
Q.3 | a. | Explain the phases mvolvcd in planning a cyb’e\r\c,rlme =z 10 | L2 | CO1
& f 0 ’ ~‘&§ '
b. | What is cyber stalﬁng" Explain in detaxl hogr ‘cyber stalkmg g\o;‘ks 10| L2 | CO1
el Y O.R 1-) . &
Q4 |a. Dlﬁ'elent%tebetwcen active attaékgé,xand passive attack%x 10 { L3 | CO1
i e ‘;& 43 ,;. ‘ k.‘.r‘.\
{1 b What are *botnets? EXplam };owbétnets can be uscd for gainful purposes. 10| L2 | CO1
a_‘““i ’ U Modwe 35,5
QS5 |[a. ['EX ain the varxous stagf_;s of a Network atfack 10| L2 | CO2
| b Define the fou@\wmg terms L 10| L2 | CO2
i) Proxy seﬁfezs and. Anonymmets
ii) Phlsmg "3*;’ e
iii) Keyloggers and spywares
iv) Virus and worms \,.?,}?
-v) Trojans and backdoory Virus
= &
A\ OR
Q.6 | a. | Explain the typesdf‘computer viruses. 10] L2 | co2
b. Explam theﬁpes of DOS attacks. 10| L2 COZ
s
b




f Module 4 ‘ f‘“

[7 . ‘.‘ e v.
Q7 |a. What is Phnsmg ? Explam the various phlsmg techmq%es.‘ -5
b. Explam the types of phlsmg scams 7
.
OR _
Q.8 |a. What is 1dent1ty theft" Explam the types of d 10 | L2 CO%
b. | Discuss the techmques of 1dent1ty theﬁ%, 3 . , » E 10| L2 CO@:
e SIEES ,;K}‘j; 5
Mildfﬂe : & 3 oo &
Q.9 |a. | Whatis “digital Forensics? Exg *thc roles and typlcal sc"enaf’ios mvolved '_10 L2 COé
in digital forensics. ‘
3 : - e
b. | With a aid of diagram, ex‘ ain th 10| L2 | COA
e . : ; .
‘?@ﬂ - Ledi OR:-'- o R T TR S P
'E“énsw evidence. COk
‘Write short's ﬁgi:eS on & C(ﬁ
i) Chein 8f custody . ¥
| i) Digital forensic science. .
¢
€
=
%
€



